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1.What can you include in the projection list of a Core Data Services (CDS) view? 3 ans

A. ABAP system fields such as sy-langu or sy-mandt \/ Cl String constants and literal values

B. Aggregation functions over fields of ABAP Dictionary tables used in the FROM clause

C. Afield from the structural output of an ABAP Managed Database Procedure used in the FROM clause
D. Afield from the projection list of another CDS view used in the FROM clause

Answer: B,C,D

2.Explain the Enterprise Information System of- SAP HANA Implementation Scenarios? There are 3
correct answers to this question

A. HANA Accelerators

B. All HANA Combinations on one platform

C. HANA Modeling

D. All SAP applications on one SAP HANA platform

E. Business Suite on HANA/ BW on SAP HANA

Answer: AD,E

3.Discuss the main capabilities of SAP BusinessObjects Analysis for Office? There are 2 correct answers
to this question

A. Convert crosstab cells to formula

B. Analyze data with the design pane

C. Suggests style sets for crosstabs

D. Sort data by characteristics

Answer: A,B

4.0pen SQL largely standardized, three sub-languages.

What are these sub-languages? There are 3 correct answers to this question
A. Data Evaluation Language (DEL)

B. The Data Definition Language (DDL)

C. Data Transferring Language (DTL)

D. The Data Control Language (DCL)

E. Data Manipulation Language (DML)

Answer: B,D,E

5.When would you use a column store table instead of a row store table? There are 2 correct answers to
this question.

A. When you require aggregation and analysis of values

B. When the table has a small number of records

C. When there are mainly distinct values in the table

D. When you want to enable a full-text-search of the table

Answer: AD
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